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Keyboarding Practice 
Drill 1 & 2
|   1  |   2 |   3  |   4  |   5  |  6  |  7  |  8  |  9  |  10 | 11 |  12

1 11 2 22 11 222 111 1st 2nd 11th 2nd 1st 2nd 11th 12th 2nd 
|   1  |   2 |   3  |   4  |   5  |  6  |  7  |  8  |  9  |  10 | 11 |  12

11 pens, 22 pages, 12 books, 12 dozen 11 pens, 11 books
|   1  |   2 |   3  |   4  |   5  |  6  |  7  |  8  |  9  |  10 | 11 |  12

21 men, 12 boys, 11 oranges, 22 apples, 11 boys, 1 man
|   1  |   2 |   3  |   4  |   5  |  6  |  7  |  8  |  9  |  10 | 11 |  12

2 hours, 12 days, 12 months, 2 years, 2 hours, 12 days
|   1  |   2 |   3  |   4  |   5  |  6  |  7  |  8  |  9  |  10 | 11 |  12

1st try, 2nd week, 12th anniversary 1st try and the 2nd time
|   1  |   2 |   3  |   4  |   5  |  6  |  7  |  8  |  9  |  10 | 11 |  12

1st base, 2 base, 1st goal, 2nd goal 1st base, 2 base, 2nd 
|   1  |   2 |   3  |   4  |   5  |  6  |  7  |  8  |  9  |  10 | 11 |  12

Time counted 21 men, but only 12 boys.  Tim saw 2 ants
|   1  |   2 |   3  |   4  |   5  |  6  |  7  |  8  |  9  |  10 | 11 |  12

Take 1 apple, 2 pears, and 2 oranges and mix.  Take 1 
|   1  |   2 |   3  |   4  |   5  |  6  |  7  |  8  |  9  |  10 | 11 |  12

Gretzky got 1 goal in the 1st period. Gretzky got 1 goal
|   1  |   2 |   3  |   4  |   5  |  6  |  7  |  8  |  9  |  10 | 11 |  12
He evened the score in the 2nd period. In the 2nd period 
|   1  |   2 |   3  |   4  |   5  |  6  |  7  |  8  |  9  |  10 | 11 |  12

I failed to answer question 1 and 2 but question 1 was 
|   1  |   2 |   3  |   4  |   5  |  6  |  7  |  8  |  9  |  10 | 11 |  12

They won by 2 goals to take 1st place. They won by 
|   1  |   2 |   3  |   4  |   5  |  6  |  7  |  8  |  9  |  10 | 11 |  12

I thought that we need 21 texts and 21 guides.  21 she 
